2D opening — Wilkosz:

5+5+ with one or both majors 5-11 PC (point evaluation for 1 seat nil-vul. 55 exactly).

Cotinuations 2D:
2h — pass/correct, may be invitational with S's support or 6+minor
2s — pass/bid you minor
2nt — invitation + enquiry
3c —nat 6+ C sign off if opener has other suits
3d — invitational with support in both majors
3h — preemtive with support in both majors
3s — preemtive with support in S's and minors
3nt — to play
4c¢ — ask to bid nearest major with transfer
4d — aks to bid nearest major

4h/s 5¢/d nat to play

2D —2nt -

3¢ — clubs + major
3d - GF ask for the major
3h/s — inwitation with better fit in other major
3d — dimonds + harts
3h — harts + spades
3s — spades +dimonds.

After x from 1%t defender :
pass — D's support — pass/bid major/xx
XX — bid your major
2h/s 3c — 6+ nat non forsing
2nt and higher as without x

Afrer overcall on level 2:
X — pass with overcalls suit/bid your nearest 5
2nt — asking for suits
new suit up to 3h with fit in that suit in serching for fit.
3S nat.



After overcall 2nt or higher:
x- for penalty
suit on level 3 from the fit in seching for 5 card if make sense.

Standard defence to 2D Wilkosz:
X — if less than 19pc take out shows 13+ with one or both major
fragments.
2 nt—16-18 with both majors stopers

all overcalls natural constructive.



